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vOj ;jwpT - juk ; 4 
 

vOj ;jwpTg ; Nghl ;bf ;fhd tpdhf ;fs ; fPo ;f ;fhZk ; ghlg ; gFjpfspypUe ;Nj njupT 
nra ;ag ;gl cs ;sd. 

 
 
 
 
 
 
 
 
 

tpdhf ;fs ; fPo ;f ;fhZk ; tifapy ; mikf ;fg ;glTs ;sd. 
 

gpd ;tUk ; nrhw ;fisg ; nghUj ;jkhd fl ;lq ;fSf ;Fs ; vOJf.        

1.       tho ;e ;jha ;  kjpj ;Njd ;  ,Ue ;jdu ; 

v-L:  

          (2 *5=10) 
 

 2. gd ;ikr ; nrhy ; Mf ;Ff.  

  v-L:   tpyq ;F - tpyq ;Ffs ;  kuk ;  - kuq ;fs ;     (2 *5=10)  
 3. vjpu ;r ; nrhw ;fis vOJf. 

 v-L: Fspu ; - ntg ;gk ;          (2 *5=10)  

4.nghUj ;jkhd nrhy ;iyj ; njupe ;J ,ilntspfspy ; vOJf. 

      v-L: czT> cil ____________  vdgd xUtUila mtrpa  

   Njitfs ; MFk ;. (ciwtplk ;> ciutplk ;;)      (4 *5=20)  

     5. jug ;gl ;l tpidabfisf ; nfhz ;L fPo ;f ;fhZk ; fl ;lq ;fis epug ;Gf.   

 vL:            

   

   

            (3 *5=15) 
 6. vOj ;Jfis xOq ;FgLj ;jp vOJf.        

   v-L:  g ; f s ; c G W __________________  cWg ;Gfs ;        (4 *5=20)      

     7. jug ;gLk ; 5 glq ;fspy ; %d ;iwj ; njupTnra ;J xt ;nthd ;Wf ;Fk ; ; xt ;nthU 

       thf ;fpak ; vOj Ntz ;Lk ;.  

   

 v-L: 

       
              (3 *5=15)   

jiyg;Gfs; gf;f vz; 
jdpg ;gl ;Nlhu ;  
#oy ;  
tpyq ;Ffs ;  

    ,yf ;fpa mwpKfk ;   

jd ;ik Kd ;dpiy glu ;f ;if 

kjpj ;Njd ; tho ;;e ;jha ;; kjpj ;jdu ; 

 tpidab ,we ;jfhyk ; Mz ;ghy ; ,we ;jfhyk ; ngz ;ghy ; 

1 kfpo ; kfpo ;e ;jhd ; kfpo ;e ;jhs ; 

 ahid gykhd tpyq;F MFk; 
 


